1. < % cosA ¢} gro] T2 A=Y

@ sinA @ sinB @ cosB @ tanA ® tanB



g 139 277 ABC oA B
sinx ] 427

)
®

3
@ ® 7

@

Wl ot w
IR TS




7
5

@ cosA +sinA

@ tan A
® sinB
@ tanB

12
S

® cosB x cos A



4.

o= go] «C7F 90° % A

AABCOA cos B9l 2 ?

©)
@

©)
®

U O ot
ol Noot ©

®

247t

co| Ut

oflt




o 2o A /BAC = 90° o], A
BCLAHo|t}. /CAH = xgt & o,
tan x & gE2?

@
@

@
®

©)

| vt | o
| T | W
[N



sinA = g Q1 227+ ABC 9|4 cos A B

- 1
,tan A o] gha 247 oY (00 <A <
90°)

@ COSAZ?, tanA =1 @) cosAzg, tan A = 2
® cosA =243, tanA =1 @ cosA =33, tanA:%
® cosAzg, tanA =1



7. sinA= Z A o, cosA + tan A 2] FE2?
16 V7 17V7
o 1637 o 1TV7
27 27
@ 197 20V7
28 27



8.



4
9. cosA= = A o, sinA + tanA 9] F2? (T, A = oZFo|t})
23 27 12 17 24

O @5 @5 G Ok



10. oh 2-)A] siny + cosx O] F-2?

3 4
®g ®g ® 1



11.

o3 283 22 A4

AC =4cm € 0, sinx 9 329
3 1 5

o - @ - ® -
2 3 3

N |



12.

thS 199 AABC oA A
AH1BC ¢ o, cosy 9] 22

= 90°, AB = 6cm , AC = 8cm ,

©
v w
®
®)



g TRe @ wel ol 19l AR
Aol /CFG = x € W, sinx 9 g &




14. o5 283 22 2S5l 2] HB D

o} ele] thzbd TF 7} oS- /BHE . ¢
3715 x 2t & o, sin x + cos x 9] 27 A E B

: \

. 4

Haz -l

B 3

o o @ o P
@ 2V34+ 317 5 2V34 - 3V17

17 17



7
1 EG

welo] ojzh4
CE 9

in x
o o, sin

g A& x
] ZCEG
o|F o 7 2+

o 3

=7

@ 3a

® V2a

S

<



